| Efficiency vs Dxy |
> 0.1
<

i®)
.09
>
3.08
k)
D.07
©
0.06
0.05
0.04
0.03

........................................................................

0.02
0.01
o+ Wf

|IIIl_li_ld.ill|IIII|IIII|IIII|IIII|IIII|IIII|IIII

Rati

1f

55-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

0.95

“mkFit_XiMinusNOPU_NEWdefault_specPLess1
Fit”_XiMinusNOPU_NEWdefault_specPLess2
“mkEit”_XiMinusNOPU”NEWdefault_specPLess3
“mkFit"XiMinusNOPU™NEWdefault_specPLess4

M—MRETe_XivimusNOPOew-towpt
mk
mk
mk
mk

—a— D

_ —— D

| Efficiencyvs Dz | |—=—1B
—_—D

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04
0.03fr"
0.02L

S S S S A —

Rati

0% 10 20 30

TP dz (cm)



	Contents
	Page 1


